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________________________________________________________________

Summary and Purpose of Document
Identification of the 

Calendar type within a GRIB Bulletin

_________________________________________________________________

ACTION PROPOSED
The meeting is requested to review the document and approve

the contents for preoperational implementation once validated. 

BACKGROUND AND DISCUSSION 
The Met Office produces data on a 360-day calendar, including many climate forecasts. This calenday has twelve 30-day months. It is invalid to translate such dates to a Gregorian calendar, therefore we propose an additional octet in GRIB2 Section 1 for calendar identification, plus a new code table of calendar types. 

Calendar identification will allow GRIB2 decoders to calculate dates (such as verification time) correctly for messages on a 360-day calendar. There are no anticipated side-effects for current software packages that make correct use of the Section 1 length in octets 1-4. Such software will still be able to read GRIB2 messages on a 360 day calendar, but may calculate some dates incorrectly (as happens now).

Any software that takes a short-cut, and hard-codes the lengths of sections 0 and 1 will fail. However, this is bad practice as it ignores the GRIB2 specification.
The proposal has been amended in response to comments from Eiji Toyida and Akira Nakamori (Japan) so that current operational products will not be affected.
PROPOSAL
New octet in Section 1:

Section 1 – Identification section
Octet No. 
Contents
   1–4 
Length of section in octets (21 or 22 or nn)

    22
Optional :Calendar type (see Code table 1.5)
  23-nn
Reserved: need not be present
Note:  
When octet 22 is not present ( Octet 1-4 is 21), it is considered to be zero (Gregorian,  Code Table 1.5)

New Code Table 1.5:
Code table 1.5 – Type of calendar
Code figure 
Meaning
0 Gregorian calendar

1 360 day calendar (twelve 30-day months)
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